F19E  FBEEHLIR

<—RFE>
7 Al 2
£ e T ERRRE
7 Ad 9:00 A2 12
426 4/29 5
% S N
4 11:30 A3 11:30 2
== a8 I TIPAY T
9 900 4
<ZRFE>

1B THATZISE DA

BR&HS

.
=

=]

Soa N

HFF

- N

B ER

H X R 2=

#iME: SM7FE4R198~5H6H

=i & L2WHMEKS
BB IEkS
45 LEHERIG

5c
11 B1 0
4/19 <
4<H — RAREZE
1 B4 11:30 B2 0
426 4/29 5
[ 2 ¢
0 11:30 B3 11:30 11
423 —
WEHE HE IuaEE4R
9 1130 2
7c
5c
12 c1 0
4/19
TE=gE7] % =it
i c5 14:00 C2 6
426 4/29
4 g
1 9:00 9:00 9
A H FE-ZE- ST
10 c4 c3 b5
4/29 4/26
E E EI 4
9:00 3 4 9:00
&R

F1:E 900~ FE2:XE 11:30~ FE3HE 1430~

28&R8

F15:4 900~ F2tE 11:30~

15248 10:00~

|
K PETED~BDORABEE—HITT, .
ERIE, B ROHFISEoTEDYET, I

|

XIERREFL, BIELBRIGDH

[RXZHIHK]
& HE 5%H =] FE-ZE-UEIE




